snapmMaker

tHIRIaE

BIERITFEY



x: BRWENZEEINER 20W/40W FFERAR Ray Eff, BB LIRF#ITASE,
INRIRMEERREH MRS, BOITTXRIT BRI,






Fraz

1.1 EZREFE
1.1.1 MBS

20W/40W Laser Module Integrated Controller
x1 x1

I L FG

Quick-swap Toolhead Bracket X-axis Linear Module
x 1 x 1

Right Linear Module Connector Left Linear Module Connector
x 1 x 1

Laser Engraving and Cutting
Safety Key Platform
x 2 x1

2| snapmaker

Air Assist Pump
x1

Y-axis Linear Module
x2

Foot Connector
x 4

C g — = N

AC Power Cable
x1

Cylindrical Foot
x 8

Toolhead cable
x 1

Wi-Fi Antenna
x 1

Laser Safety Goggles
x1



Foot
x4

Cable Tie
x2

Basswood Plywood
x1

—4

M5 x 16 Screw
x5

Air Tube
x 1

Foot Holder
x 4

Cable Collector
x 1

Cotton Swab
x5

H3.0 Hex Key

x 1

M8 Air Tube Connector

x 1

==

USB Cable
x 1

-

Laser Lens Protector
x1

microSD Card Reader
x1

M5 Air Tube Connector

x 1

Cable Clip
x 14

M5 x 12 Screw
x 36

Netac FEm
e

s
GE =S I

microSD Card
x 1

EIREBIHMEAYZ Snapmaker 8 M5, BARBEHNIEA

5= SR



Faz gl

1.1.2 ShEFEBHF

Long Beam-1 (with air inlets) Long Beam-3 (with Enclosure converter) Long Beam-4 (with hinges) Long Beam-2 (with hall switch)

x 1 x 1 x 1 x 1
T -_——————————
Column Short Beam (with LED strip) Short Beam
x 4 %2 x2

Enclosure Door
x1

H3.0 Hex Key
x 1

M4 Wing Nut
x5

4| snapmaker

Front/Back Panel
x2

—

H2.5 Hex Key
x 1

e

M5 x 12 Screw
x18

Left Side Panel
x1

[ ]

M5 x 30 Screw
x18

M4 x 12 Screw
x 4

Right Side Panel
x1

S

M4 x 40 Screw
x5



Snap Bushing

x1

Hose Connector

x1

Hose Clamp
%1

Sealing Plug
x9

Exhaust Fan Guard
x1

=0

Sealing Strip
x 1

Exhaust Fan
x1

=

Profile Connector
%8

Hose
x 1

HEtEF |5



1.2 IFIEER

TS

BAERFRNERESFREBRKF
MREHIIES.

5r 2

i B Snapmaker B 5 5 & T
Snapmaker INERE=/AT BHHE
N SEER AR, EEMTEINE
HIERT, IMSERERL AL
S AZFREST RO

o3

RIS ARTHES, YER
Y. ZIEL ZBYRESERE
I (BIANARER. EFRSGUH) o HEE
— DR BHEHAX HHITHIP R
&, RIERKBIBELT RS,

e

AP m TIRRY, HOAUCREZI SRR
MEFIRESBRRE S EERUATUR
=, FHit, FRERBEZIZIZIAH
BURRSE. R HITSRGHIM, fEECHE
RN FLENE R NTIEEE,




Hi

—

Wal

23K

WALL
100mm
(Min.)
@]
[¢————I
150mm
(Min.)

S

AEER|T



Fraz

1.4 8370

O O

F——j BNEDRASSHE N GEMEN.

4

2HEls

% SERAEIE, WS, [FIEAA BT

SNER, BERFEWTH RN FESR 7,
D3R E o

PR 2 SRR LR, ST sRIMUIA ARV
2z, REMPEREBL, &EBEBIMBNIREK
RENEFRB B2,

CIEL RBAIT NIRLALN, BAIRBIR.

/8 L B F LB 2hy, BISTRKINGERLT
NBZFHh, BREWETHS, FHRLE, %
FRAE I B 2P IR IERD BT,

8| snapmaker



1.5 *’]_‘i‘l \' (. :

&5 BB R BRI RES AN ESER IR BF, SESABHE,

AR IIEPIRN Z0E BV TS,

BB TEMIRIFESINERER.

R PR HERERVIRIEIES | SRS BYIERS,

#Am EDIER, BREREARIEMIER R ER.

SIZAMRLIE, B7UREL, SZARRTHIEY, S
PLRIRLL,

1N -l gl

4H%E1ER |9









ZE e

# 0137

RS2 B R R & E = B A Rl

EffisZHl X 4

Sk B X 4

12 |snapmoaker



LEE IR

# 0237

R BRI A& E 2 < Bl 1o

SRR X 4

AEEtER 13



RIS

# 03137

EEERAONE Y MRN—RELIRA, ©RAIEEMRYY Ho

<

YHNELZLIRA X 1

A\ s, mmpmmanmnss.

A VRN,

14 |snapmoaker



PEANER

K 04/

RSz A A EE 2= 1 Y 4o

A RS B I A B A

H3.0L&8xF X 1 ||

l
M5 X 12 4822 X 4

AEEHER |15



RIS

# 05/37

FS—IEREEAZOLE Y MRNELRARKEAGMRYY i,

YHNELZLIRA X 1

A\ s, mmpmmanmnss.

A VRN,

16 |snapmoaker



PEANER

# 06,37

RS2 AEEZAN Y 4o

l
M5 X 12 4822 X 4

AEEER |17



ZE e

#0737

R BEAR AR ERVBEIXDEBNAM Y 3HE ERYTEET FLH.

EESIRARER X 1

18 |snapmoaker



LEE IR

7 0837

R ES R AR RIREEZE MBI Y 5o

M5 X 128822 X 4

4R2E4ER | 19



RIS

# 0937

KA ELRARLER ERVRTIXEEAGN Y 3 FRETT AL

BEZIRARER X 1

20 |snapmaker



# 1037

REBELRAREIREEZEAMBYY 4o

M5 X 12 1842 X 4 O

A%t | 21



ZiEkS
A 1137

R ELANR B e o) = HFrae 28 &R im.

A SUNEE, BEIRNEER SR,

A YRR,

22 [snapmaker



PEANER

K 12137

EEONE X TRRRNELRAREN X . KEBELIRARER LR
FHEIXDAERRN X HB9THET FLH.

XEHEZARA X 1

AEEtER 23



pEE I

F 1337

R X MEE 2 BARARER. AP BRENEL, NEIE 1770
=521 B

M5 X 12 #8242 X 4

24 |snapmaker



PEANER

K 1437

Ria AR AR ERHET XA X 3HAYIEET FLA.

HEEHER |25



HA 28

K 1537

R X MIEE =6 BARARER. 2P BRENEL, NESE8 17740
IR o

M5 X 12 8222 X 4

26 |snapmaker



X 1 6 /37 e

R’ X iz ohE HFTe R AR RER, AR Y HUE, IR Y HEE T

AEEER 27



pEE I

A 1737

PR ELARA RN LRV L,

28 [snapmaker



PEANER

# 1837

R ELAEE = X Hilo

M5 X 12 #2842 X 2 E410 X 2

REEIERT | 29



PN

# 1937

R ELANEEZEEMAY Y 5o

M5 X 12 #8442 X 3 [E4&30 X3

30 snapmaker



2B 23

# 20137

KoM Y HRVZREE =20 Y HpYEL0 o

AEEtER |31



pEE I

K 2137

ReELAEEZEGMRYY 5o

M5 X 128842 X 7 [£4%#0 X7

32 [snapmaker



HEEN 2R

K 2231

Rea Y MV EIE =AM Y e ELH Lo

REEIERT | 33



HA 28

K 2337

REPATT KRB EE &l RE 2 X Fllo

BATSKIRIGBEE X 1

M5 X 16 k822 X 4

34 [snapmaker



K 2431

RIUBE R F IR ERZBIRS, AR

e

PEANER

AOCIRA X 1

{

Product Name: 40W Laser Module
| Model: 40w
| Rated Power. 140W

Rated Voltage: 0C 24
Rated Current: 584
Manufacturer
- Shenzhen Snapmaker Technologies
| Co,Ltd

4F Bulding 13, Pingshan 15t Road, Nanshan

| District, Shenzhen, Guangdong China
i
“ Made n China

AT

{REEIERT | 35



pEE I

# 2537

BrAEATRBE, BEEBRIVEISBERRSTTT, KHRITKIRIE

TBENFIREDE RERS.

A

Co., Ltd

snapmaker

Product Name: 40W Laser Module
Model: 40W

Rated Power. 140W

Rated Voltage: DC 24V

Rated Current: 5.8A

Manufacturer. :
Shenzhen Snapmaker Technologies
4F, Building 13, Pingshan 15t Road, Nanshan
District, Shenzhen, Guangdong, China

Made in China

AL

DANGER

IO

LASER

RERITELSENBN, @RERATHEETBRERCHZ 5]
2NES,

36 |snapmaker




PEANER

K 26437

RAITRIE IR AT R

HATRIERZ X 1 »

HafRizL O FAR ER,

REEIERT | 37



pEE I

K 27137

RATRERAEEE X HRIELZ o

38 |snapmaker



HEEN 2R

K 2837

RIThERaBEEEGN Y HpELH0 £

4H%E4ER |39



HA 28

K 2937

R X 2REE =AM Y 3AvELZH0 Lo

40 |snapmaker



PEANER

# 3037

R M5 SERKEEERNITK L.

M5 85E#k X 1

[ e

AEEtER |41



pEE I

K 3137

BB M5 SEE,

EEMNTERKPHRES
g, FEAEZERERX
BERZ Mo

(G

42 |snapmaker



HEEN 2R

K 3237

BRERUE, EARATEENTAEREZSSE

A AL RRORAE R NS NI RE B ER,

4%EHER |43



HA 28

H 33137

BRERUE, ERARETHEENTRERZ. XLk, URTE,

44 |snapmaker



PEANER

K 3437

R Wi-Fi XR&Be NSERGE s, RERIRE, EEARH L.

SERERIZE X 1

Wi-Fi K& X 1

HEE1ER |45



HA 28

# 35/37

R microSD RIENEAIE IR,

Add on Enclosure Y Y X Motion Toolhead

) (D= (o= D=y (o= | =) (=l
29 &) || @) |E) |E2) |E)

—— e microSDk X 1

®

Netac Ezm
mees
GE E=1

8

46 |snapmaker



LEE IR

& 36,37

R EE = BB XM,

EAXHE X 4

RIER X 4

LREIERT | 4T



ZEE

K 3737

R EBZMIEE Z R S IEIF &,

BAEMZSTEIFES X 1

XFARESABASTIEITS, BS54 RREN HEm0ET
3.2 RERKMASEITE:

https://wiki.snapmaker.cn/snapmaker_ray/manual/quick_start_guide

48 |snapmaker



HEEER |49









HIRINE

# 01729

EENARTTNT SR BURERE R, R EAMEIR (7 5 E E 2= H i,

Bz 8 g27 |
L M5 x 12 4 H3.0 J

A BIMHKEEHRE: KRR > SRR > T,

D
&

RN % 4

R % 2

HREMIER ARV E RO ST EME
MERN, FEZEBERMPEFR, HIUEF UL

To

52 |snapmoaker



7 0229

R UARILAE EIE =AM ERE

HEINE

ez 8 2247)

L M5 x 12 4 H3.0

—o /T x 4

HEE15TR | 53



HIRINE

# 0329

VERR KRR -3 (RINEREIRR) , KHEEERMERMT,

( b8 0 18447]
L M5 x 30 4 H3.0

A\ wEE. snEsREEERENEEN.

1

UP

Column 3

54 |snapmaker



HAEINE

# 0429

ERRKER -1 (FRE) , REEEERMEEMS,

[ e 8 g7 |
L M5 x 30 4 H3.0 J

' KL -1 x 1

UP
Column 1

3157 | 55



HIRINE

# 05/29

RK—kan / Bk (BEFER) « ZURMNEERSBEAOREMNRD 5
FNINSEIEZRT,

A BRASREFOESESRE—N, BPSEROUFRSEFOTA.

R 52 SIIRAVIASII B RS N EMAIMER, T2/ R
B, BHIUERUEATI,

HIWAEL &N

SRR % 1 A x 1

56 |snapmaker



A 06129

IR MIER BT FAEER (FRMOFR) , REMERGDHE
EZ= H M imo

| B e g7 |
‘ M5 x 12 4 H3.0 ’

V e TP B 4

¢ LED £T4%)

/ ETM%}{; ( I

x 2

HEEER | 5T



HIRINE

# 0729

ReEBRMIER AT FREEE T,

Bz 08 g7 |
‘ M5 x 12 4 H3.0 ’

MR, GUEREMERAFRENHEXEAR,

i

58 snapmaker



7 0829

ERKER -4 (FE0) , KEEEEREMERMT,

ez " 2447)
‘ M5 x 30 4 H3.0 ’

HRKER-4 51 LRV 22150 L

MR -4 x 1

A5 | 59



HIRINE

# 0929

RE—RAT R D AN MINT 5BV iR DM INS AR MY 2 $HE O
B, FREMENE RIS AR BIRVZERR,

LED KT 452K x 1

60 |snapmaker



HEINE

A 1019

R 8 MEIIEENFTE R ERARIIMU,

e | 61



HIRINE

A 11529

2L 4 RKEGENBIESR, 25EHEMSERZBBIMULERRT,

FRRUERRI S VR EIE R,
EES LT

34 T35 .
g € ;—}Rﬁiﬁ |
- 5-

x5

BEEDI 2 X

62 [snapmaker



HAEINE

#1229

FPAERE ZA MR

o % 1

HEE1ETR | 63



HIRINE

#1329

RHSBRIPS. AFRBMNERERSEEE =G MR,

( B2 i guy] |
| M4 x40 BFES 4 H25 |

3 x 1
HE 3 x

64 |snapmaker



HAEINE

K 1429

RSB NI SRR EM e OR, FRELIMNUEE.

HEE1ET | 65



HIRINE

# 1529

RNEEANEFE, AERNEBEEMN

i
pre
W
ol
(@]

66 |snapmaker



HAEINE

# 16/29

RN EERAIB NI EREARRNANIEOS, AENFIIFAEEINE
Il

ANEE TR x 1

HEEER | 67



HIRINE

K 17129

VBRI R LR, AN ERERREMBY 4 $HEO T,

A B KERE: BRFEE > TR,

68 |snapmaker



# 1829

RFERIARLEZENEAIEME MER S 52 iR Z BRI, A5
ELAN—EINLEE

AREFETE | 69



HEINE

A 19129

Bk X B ZEERUE, LR SBEANEIERRITASHES
L& EhbE,

{ A B, B R SR .

{ A R,

70 |snapmaker



# 20129

Ri2siz NINERN,

B0, IS, URSINERMLENME, BNEDWAH
[E)#%1Fo

AEEtER | T1



HIRINE

& 21129

TORRHITRERL. ZIRELRALNSERANTIIPEZEZINEIMI,

72 Isnapmaker



K 2229

R X M sh ZEEPree R AR &IRm, WE Y HUE, #HRYHWEEYT

NN BRI LB R 2 4 (1, TFIRIBL LS BHIR v e
B,

AEEtER | T3



HIRINE

K 2320

RFIRA—IRIL 5o DARIENAEZRBIER, (FABIRG

-
]l
iy
\

X
—

74 |snapmaker



K 2429

RFE /R KL S —Imtl N KSR -2 VB /R R,

KR 2 % 1

AEEHER | 75



HIRINE

¥ 2529

FRER -2 (HERIX) BEZEMERF. A5, RHETRITRELE
EEH—E, MNUEE,

iz 0 447)
L M5 x 30 4 H3.0

—

HRRKER-2 EHR “UP” FHREA L,

1

UP
Column 2

76 snapmaker



HAEINE

K 26129

RIAABRZR -2 BRI SRR Mim 0 5 Il N M SR RYR1IR DA G MIAT 5%
HYATIm O,

AEEER | TT



ZETE

K 2729

=HEH 2R KEGENEZIES, DalEHEMSAEMR. AMIRME
Rz BBy IMUZE R,

l\IIJ 1;;5!0 _:jfz % -| 2

78 [snapmaker



K 2820

EEINE], FERIPERIEE,

Bz 9 g7 |

‘ M4 x 12 4 H2.5 ’

] x 1

LREIER | 79



HEINE

# 2929

MNEFTR, BINEEELENENITHI2sH Enclosure 11,

—h
] 7

|

80 |snapmaker




e | 81









R SHINR

# 0104

ERELMFRENEMEA U ZE —it,

4 X1

FEIUFINENERDRIFNETR, FrErNREREERTARINE
M=o

84 |snapmaker



B3R

r

483

7 0204

o
0%
ey
4HE
IEIT

Bk X1

40
r

— /v

M8




JRAETN SRR
ARETSEEIR

# 0304

RRENZ—ImEA M8 Bk,

HEMNERXFHRES
B, FBEAEZERERX
BRI+

86 |snapmaker



PERTHER

7 0404

Rr==SAmBh RAVEE R AR N AT 25,




Mt igE

aatbig

B52%E Wiki 9% ERRIFBENI GRS, SERIIGISE, HERFE Luban BIFHF5ITIE

FFreR B A R m:

https://wiki.snapmaker.cn/snapmaker_ray/manual/quick_start_guide

<« > C @

J Snapmaker Wiki

11 [

Snapmaker 2.0
Snapmaker Artisan
Snapmaker Ray

Snapmaker J1

Snapmaker Luban

3k eT / English

88 [snapmaker

B https://wiki.snapmaker.cn/snapmaker_ray/manual/quick_start_guide

A / (snapmaker_ray / manual

quick_start_guide)

o

i

nE

> 01 FHEZHED

> 028ESEE

/: 03 EET1E

3.1 Eaiflag
3.2 BB STIEIFE
3.3 EEWH
3.4 E#EH 255 Luban
3.5 FHEEM (IE5)
> 04 BXR{ENL
4.1 85 G KRB
4.2 EEHH
43 BERNEE
4,458 XY TIEE=S

4.5 TR ENLER

4.6 BRI R

.

> 05 HE54R

Snapmaker #1 (Ra




